Tutorial 10

1 The following class B address 150.100.0.0 has a subnet mask of 255.255.255.128. State the following information for the first 4 valid subnets : (a) subnet network address, (b) host IP address range and (c) subnet broadcast address.

2 Discuss the advantages and disadvantages that the re-assembling process of a fragmented Internet datagram to be taken place at its destination versus at intermediate points on its path to the destination.

3 In IP datagram, the checksum covers only the header and not the data. What do you think why this design is being implemented ?

4 2 clients X and Y are going to access a Web server W. Suggest the possible port numbers (both source and destination) for :

a. Segments from X to W.

b. Segments from Y to W.

c. Segments from W to X.

d. Segments from W to Y.

e. If X and Y are on different machines, can their source port numbers be the same ? Explain.

f. If X and Y are on the same machines, can their source port numbers be the same ? Explain
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